
−→
A · (
−→
B ×

−→
C ) +

−→
C · (
−→
B ×

−→
A ) = 0

Najpierw wyliczamy
−→
A · (
−→
B ×

−→
C )

−→
A · (
−→
B ×

−→
C ) = det

Ax Ay Az

Bx By Bz

Cx Cy Cz

 = AxByCz − AxBzCy − AyBxCz + AyBzCx + AzBxCy − AzByCx

Identycznie wyliczamy
−→
C · (
−→
B ×

−→
A ) i dodajemy do

−→
A · (
−→
B ×

−→
C ):

−→
A · (
−→
B ×

−→
C ) +

−→
C · (
−→
B ×

−→
A ) = AxByCz − AxBzCy − AyBxCz + AyBzCx + AzBxCy − AzByCx+

+ CxByAz − CxBzAy − CyBxAz + CyBzAx + CzBxAy − CzByAx =

= AxByCz − CzByAx + CzBxAy − AyBxCz + CyBzAx − AxBzCy+

+ AyBzCx − CxBzAy + AzBxCy − CyBxAz − AzByCx + CxByAz = 0
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